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p. GplwG 16 (injtdptiph 2018p.

KUBEUNLNURULLU» RRL /wjunthtn’ pwlly/ pwdGhmbptph htnwyw pytwpynipjudp
wnpunwhtipp  dnnnyph  pytwpynipynip Juwwpglp bt pytwptpphyltpny («PwdGhnhpuywb
nGytpmp niGGatph Jwuhly» << optilip, hnpwo 79): Lytwptpphyltnp, hwdwdwja pwGyh funphpnh
phy 37/23-28.09.18p. npnpuw G, mpuwdwnpyb] /wnwpytb)/ GG pwdGhmbptphG dhGyb u.p. hnjumbtiptph
17-n: LYytiwpynipjul wpnyniGplph withnthiwb dwdiwluwy hwpyh GG wnbyt] dnnnyh wligiugiwb
onjuw npnipjwip ypwnundjwo pytwpbpphyltpny mpwdwnpjuwo dwyGtpp:

Lytwptipphytinph withnthiwl wpnniGplbpp htnlyw G GG

Pwlyh mbtnupwyfujuo pytwpynn pwditnndutinph dwjGtph gnuiwpwjhl pwlwlyp juquind
L 1,852,533 dwjGh hpwyniGp wmynn pwdGtunndu, nphg pybwpynipjulp dwulwygt) ta 1,404,069
dwjGh hpwynilp mynn pwditmndu Jud pwditnndiutiph pnhwinip puwpwlwlyh 75.79%-n:

Lynpmuip wywhnyywo k:

Pwlyh pwdGtntiptinh pnhwbnip dnnnyh pybwpynipjwu b6 thG npjuo htimlywy hwpgbpp

oruuunra

I. Pwlyh tdhuhnG Gwimwbtphg® 33,438,300 (tptiuniGtptp WpthnG snpu hwpynip GptuniGnip
hwqup tptip hwpynip) << gpud, spwpfujwo pwhnyyphg” 2,524,160,700 (bpynt $hjhwnpn hphGg hwpynip
puwlmpu WpihnG hwpynmp JuwpuniG hwqup jnp hwpnip) << gpud b Gfuwynp wwhniunhg'
3,000,000,000 (tptip Wpthwpn) <4< npud JuGnGunpuyuwl Juwhunwh wbugiwil ninnbnt
vhongny PwGyh JulnGuwnpulwl juyhnw wybjuglbnt L gpuw hwpyhG 3,000 << gpudh swthny
dtil unynpuyul pwdGtinmniuvh wlijuwliwlwb wpdbpp dtowgGbnt ytpwpbpjwy:

2. Pwlyh GulnGunpnipjw@ thnthnfujwo mwpptipuyh ytpwpbpywy:

Lytwnpynipjulp Jwulwlgwod pwdibmbptph dwjGtpp, punm opwlwpgh hwnpgh, pwotuyty GG
htimlywy Ytpy.

1. Unw9hG hwpg ynnu 1,404,068 dwjG Ywd dwuGwyhgltiph dwjltph  99.9999%

ntid I dwjl Jud dwulwyhgltph dwjGph  0.0001%
dtinGuywh 0 4wyl Yuwd YwuGwyhgltiph dwjGtph 0%
wljwybtip 0 dwyl Jud dwulwyhgltph dwjGuph 0%
2. Gpypnpn hwnpg ynnu 1,404,069 dwjG Yuwd dwulwyhgltinh dwjlGtph  100.0%
ntid 0 4wyl yuwd dwulwyhgltinh dwjGtph 0%
dtin(wwh 0 dwjl Yuwd Jwulwyhgltinh dwjltph 0%
wljwytip 0 dwyl Jud dwulwyhgGtph dwjGhph 0%

gnande NencnruUE”



I. Qwunwwnt] Pwlyh EdhupnG GuwdinunGtphg® 33,438,300 (tptuniGtptp WpthnG snpu hwpjnip
tiptiuntGnip hwquip tptp hwpynip) << npud, spw2fujwo pwhnyphg™  2,524,160,700 (Gpynt dhihwpn
hhGq hwpynip puwlmnpu dhihnG hwpmnip JupunlG hwqup jnp hwpynip) << gpuwd b Gjfuwynp
wwhniunhg®  3,000,000,000 (Gptip Uhthwpn) << npud juGnGunpujui juyhnwih wytjugdw(a
ninnbnt vhongny Pwlyh JublnGunpuyub juyhwwih wybugnuip L gpu hwpyhG 3,000 << npuidh
swihny dtl unynpuyul pwditnniuh wijuiwlwb wpdbph dhowgnuin:

2. <wumnwunt] pulyh GuGnGunpnipjul puiywyuwd mupptpuyn:

KUSEUNULNURUTLLY) RRL pudGtmbtiptph pnhwlnip dnnnyh hwyhs hwGdGwdnnny.
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